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b‘i 2 The Domar Model:

A Russian American economist, Evsey David Domar (April 16, 1914 — April 1, 1997). builds his = - \/
model from both demand as well gs the supply side based on dual effect of investment and provided the L _— - - <
solution for steadi 0=r0w1h. - A—L
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To simplify the model. the demand and the supply equation in the incremental form can be D,'j - /}
written as follows: /,L‘ \/‘/“(

The dQl}gl\'ld)idB&f the long-term effect of investment can be summarized and expressed through }.S

~ . - __/
the following relation as: 5
o = ™
W& \/AY’ =Al (l/a) [Change in income (AYy) equals multiplier (1/¢) times the Change in investment (A ] \
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/ /‘/;Vhere, e ﬁ
o (Alpha) = MurOiWnsit to save which is recj al of multiplier.
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The supply Wnt can be summarized and expressed through the following relation D") !
as: v
) \,\ /AYS = GA;( [Change in output supply (AY;) equals the product of Change in real capital (AK) and capital Productivity (5)] //
Q Orf AYs=ol)........... (2) [Since AK=I where I denotes Net investment |

04 1 Wby, A4 > Ay
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Domar’s condition of steady state growth can be explained with the help of numerical example.
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Suppose the erl (o) 1s 25% and the mgyginal propensity to save ((a) is12%, then;
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Thus, the above numerical example shows that income and invg;ment must Wnuﬂ] ys) D¢
rate of 3% if steady growth rate is to be maintained at full-employment. Any divergence fronrhis “golden jp— 9<
path” will lead to cyclical fluctuations. Disequilibrium reflecting non-steady growth state would prevail if: ,-,Q — I ~
Al L
1) = o and the economy would experience inflation. o 4
) 4o ’\X\’ Xperier i A

Al n .
n2) —<ac and the economy would suffer from secular stagnation. o
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